



Ex When 2 radicals are on one side,  
it's best to bring one over before

squaring.

$$\sqrt{x+3} + \sqrt{2x-3} = 6$$

$$\sqrt{x+3} = 6 - \sqrt{2x-3}$$

Square  $x+3 = (6 - \sqrt{2x-3})^2$  FOIL it

$$x+3 = 36 - 6\sqrt{2x-3} + 2x-3$$

combine

$$30+x = 12\sqrt{2x-3}$$

$$(30+x)^2 = (12\sqrt{2x-3})^2$$

Square again

$$(x+30)(x+30) = (12\sqrt{2x-3})^2$$

$$x^2 + 60x + 900 = 144(2x-3)$$

$$x^2 + 60x + 900 = 288x - 432$$

combine  $x^2 - 228x + 1332 = 0$

omg!!

Factor  $(x - ?)(x - ?) = 0$

$$(x-6)(x-222) = 0$$

(you're kidding)

↳ This would not be the numbers  
on a test - too stressful

$$x = 6, x = 222$$

Check  $x = 6$  :  $\sqrt{6+3} + \sqrt{12-3} = 6 \checkmark$

$x = 222$  :  $\sqrt{225} + \sqrt{441} = ??$   
 $15 + 21 \neq 6$

$x = 6$